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d (cm) |
om | (ena]_K-20] (=d| (k=] (k=53] 1

3.78 7.48 22.32 14.97 18.77
6 7.46 15.25 22.73 30.43 38.00

sin(a)
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d (cm)
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2*1.885 2*3.79 2*5.675 2*7.56 2*9.375

6 2*3.765 2*7.565 2*11.38 2*15.05 2*18.95
A (nm)

sin(a)
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2*1.54 2%3.03 2%4.49 2%6.17 _

sin(a)

lin

"cm




Jol 6 40 49 (5395 L1 Wty 5 w501t Jol ilo 3T

sin(a)




b
| VS

B
&=

Eio

[ 72 B
-

o

S 0Lkt o dlS oY 31 ol o > @ Jb>

G194 Lo o Joo 2 il ookl b
ouw b (Tl J10 909 3 ookl b
k=1
A (nm) o A2
438.5 1¥.0
F.0.Y \v.ry
Fara \7.Y0
AFY.Y AP
AY1.A 13.17




WA (Y

S5 03I (538 S 31 539 ((FAPTYAA )53 Ta0 Jgb 5 03It 58 oo sllad Glime (1
Tl yi il P le A g0 30 poggS Alwg 4 00

QP ST Fooe 30,5 355 Too Job (il 4idd Sy gl ) 5 o5 0311 CES ol g2 {5599 Wil 58 (2
£390 5 o 03I (51 03 gumo 42 40 w0 (Hlw  lad Voo (5593 b Sl A 0 il 5 S
Sowil Jgd L0

$upd T 1y PO ST 3 (5399 SN i3 S99 9 oo 3 G395 590 o Sleigll (3

> 1eve 5395 21y FoooA i GFBe oA Tg0 Job b 50,8 31 e 3 b Jolis g doiir (4
ol o o Sl
Tul onalivo JiB i g 305 193 512 i1 2 4 g0 Wi B ST (A
Sowl Jui (Cunl oulive B i (T (ol ) a0 &5 il 3 4 g0 S0 (@



